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1. (10pts) Compute the approximate solution using Euler’s method on the interval [1,2] with h = %
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2. (10pts) Dly] = f(x) with {y Eli has the following impulse responses with = £ on [1,2].
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Write the solution to D[y] = 9(z — 1) with the same boundary values, interval, and h.
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3. (2x10=20pts) Discretize the following 2nd order differential equations. (Use any method.)
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4. (2x5=10pts) Divide. (If there is no solution, write “no solution”.)
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5. (5pts) Find the best approximate solution to the equation | 1
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7. (10pts) Use the given LU decomposition to divide.
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8. (10pts) Use the given QR decomposition to find the best approximate solution.
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10. (10pts) Compute the QR decomposition for A = [1 2 J
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